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(7. ) <hremseamer 3 & 3 ieifere “aM” e
T it 7 ‘
(A) W
(B) T
(C) =afFa
(D) weRy
(E) TR @ 9 7

2. Ry ¥ R & i wfiifim 2
(A) Trmiforr qumdan
(B) wd=masma
(C) ~fifa <t wagasfieran
(D) SWiT of
(E) IR # |/ 8 e
" frw R ?
(A) B

(B) W
(C) faeA
(D) amf
(E) s

4. W%g@aﬁamwaﬂ?m%?
(A) T=UTE '
(B) Tregufa
S (©) wewE
(D) e
(E) Swwa 3 @ =g e
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. Which is not included in scope of

Public Administration with “3M” idea ?
(A) Money

(B) Material

(C) Man

(D) Method

(E) None of the above

. Which is included as a subject matter

in Public Administration ?

(A) Social Relevance/Realism
(B) Comprehensiveness

(C) Sensitivity of Policy

(D) All the above

(E) None of the above

. Which country introduced “Performance

Budget” in Municipal Administration ?
(A) France

(B) India

(C) Britain

(D) America

(E) China

. Who appoints the Chief Secretary of

State ?

(A) Govemnor

(B) President

(C) Chief Minister

(D) Home Minister
(E) None of the above
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5. wRum ¥ fra og=es § gE F FT

Fae M E ?

(A) 3R3=3% — 164

(B) 3Irg=as — 153

(C) @— 167

(D-) AT — 157

(E) 3ugaa # 4 *r$ &

6. = FmEn ARR Jaen F FruwRa g ?
(A) =T, g qun AW
(B) U, 90l 9491 A
(C) &=, TF quT A
(D) o™, el ag1 gHi
(E) T @ =18 7el
7. Frefafea § @ F9 SaamE S dd 5
IR TR 2 7
(A) TFS
(B) e | -
(C) Tfeha S
(D) Fraen
(E) 7 & =13 7

8. forea 0 S FOETS IR FI FE €
(A) SR
(B) e
(C) Thw
(D) #r=R
(E) s @+ &l
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_ Which Article of the Indian Constitution

explains the functions of Chief Minister ?
(A) Article — 164

(B) Article =153

(C) Article —167

(D) Atticle — 157

(E) None of the above

. . Which of the following constitute a food-

chain ?

(A) Grass, wheat and mango

(B) Grass, goatand human

(C) Goat, cow and elephant

(D) Grass, fish and goat -
(E) None of these

_ Which of the following is not an example

of a bio-mass energy source ?
(A) Wood

(B) Gobar-gas

(C) Nuclear energy

(D) Coal

(E) None of these

. The device used for producing electric

current is called a
(A) Generator

(B) Galvanometer
(C) Ammeter

(D) Motor

(E) None of these
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IREIRRNDREN
~ 9. = 8 R 93 wrm 1 7R IR @3 T AW 9. Which of the following is not a me of
1Y the female reproductive system in
(A) 37z human beings ? |
(B) miiwa (A) Ovary |
|
{C) Tt (B) Uterus |
(D) Femafesh (C) Vas deferens
(E) 378 A T 78 (D) Fallopian tube
5 (E) None of these
10, 919 3 Sgem s o JawErh
{(A) T3 T 10. The xylemin plants are responsible for
(B) ¥ 1 73 (A) Transport of water (
(C) i 37 = Tes (B) Transport of food l
(C) Transport of amino acids !
(D) wFwfaa w1 aga P |
(E) il & % 7] (D) Transport of oxygen {
. (E) None of these -
1. Frefafra & & i vivam 3 o 6 |
€ i v D 7 TmA S 11. Which of the following institution has
celebrated its Diamond Jubilee
(A) 730, recently ?
B) vadhag, (A) UG.C.
(C) amafi.and, (B) AIC.TE.
(D) *hdamh, (C) RB.I.
(E) =8 0 #xé @l (D) C.ER.C,
2 i e il (E) None of thesg
- V@A W el T wm nfge
- ¢ 12. Wt
Feferfen 4 @ b 7 wo‘;’]:’: (l:hO lollo\fJing was the Firgy
(A) rien Tl entral Minister 9
(B) d.a e :Z; \S/hnmn ongaswamy
-S. Ramadovj
(©) UM ;
m (C) Suchetn Kriplani ]
D) Tl 3 v (0) Rajkumayi {|
‘ mart Amrit K -
(E) viq aur
— ) Lt (E) None of thesg
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13, st 3 ey <reren T QT A I ® 7
(A) HiaTg
(B) o
(C) TIRERY
(D) ¥
(E) 37 @ B Tl
.14 AreRiftaa 3 & g T geRE
s frenea fem R 1
() Tl
(B) &g
(C) R
(D) s
(E) T @ =I5 el
15. e awm PR 3 A R T
' Ygafae ?
(A) AT T
| (B) FleH
(C) F=
(D) afETg
(E) 37 @ =13 T

1. s P i el e e &
(A) ardiarch St '
«B) T At
(C) ¥=a @l st
(D) C - S
(E) T Q =8 T

13.

14.

15.

16.
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Where is India's First Mobile Police
Station is located ?

(A) Sitapur

(B) Thane

(C) Hoshiarpur
(D) Bhuj

(E) None of these

At which of the following place
Woodstock Intemational School exists ?

(A) Mussoorie
(B) Dehradun
(C) Shimla

(D) Darjiling

(E) None of these

To which of the following State the
folk-dance ‘Yakshagaan' is related ?

(A) Andhra Pradesh
(B) Karnataka

(C) Kerala

(D) Tamil Nadu

(E) None of these

A computer can only understand which
language ?

(A) Assembly language

(B) Machine language

(C) High level language

(D) C-language

(E) None of these
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7. T Amae T R
’ (A) 1024 =T5E
(B) 1024 fareftamse
€) jopa TR
(D) 1024 T=mse
(E) 7 & = e

"18. g 3 zren N i 2rEH % SIS R
" rmAm ST R ?
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17. One Megabyte is equal to

(A) 1024 bytes
(B) 1024 Kilobytes
(C) 1024 Gigabyte
(D) 1024 Terabyte
(E) None of these

18. The sum of average latency and seeK

time is known as

(A) Average Hold time

(A) 2N Tres A
(B) i fedt Tm (B) Average Delay time
(C) 3iwa g oA (C) Average Access time
(D) T FrAHL 21EH (D) Average Transfer time
(E) 37 & 1§ el (E) None of these
/19, et e g R T 2 7 19, Which is not input device ?
=4 (A) A8 (A) Keyboard
(B) < 9 (B) Light Pen
(C) 5rd (C) Mouse
D ELEICRIE (D) Bar Code Reader
(E) FHAFETE (E) None of these
00. M= ﬁ;;qm R Frict o e 20. Which is the extension of MS-Excel
FA-A1E 7 . file ? :
(A) . xls (A) . xls
(B) .doc (B) .doc
(C) .bmp (C) .bmp
(D) -jpg (D) -ipg
(E) 37 & Fg Tl (E) None of these
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21. 1857%:%%31‘?12;?!11‘1’%&@ faufea
1 Prefafaa d 4 Cac Ko

¢D) wea @l

(E) Ivda & & IS Tl
,K?T“mﬁmqgmwén%‘ﬁmmm
(o~ ymamm?

(A) s, e

(B) STen @NTd I

(C) T.W. Arave

(D) @S Tm

(E) 38 & =g el

23. Wﬁama@mﬁm
YRR e 7

(E) T @ g Tl

@aﬁmﬁammmmmﬁ
‘PremEmR fEe a8 7

(A) Therr
(B) g
(C) gmI=
(D) ¥hEm
(E) 7w

21.

22.

23.

24.
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Who among the following was the
leader of rebellious soldiers at Delhi

during the Revolt of 1857 7

(A) Maulavi Ahmadullah

(B) Bahadur Khan

(C) Kunwar Singh

(D) Bakht Khan

(E) None of these

Who was the first leader to organized
Labour Movement in India ?

(A) B.P. Wadia

(B) Lala Lajpat Rai

(C) N.M. Lokhande

(D) N.G. Ranga

(E) None of the above

Which of the following bays separates
India from SriLanka ?

(A) Bay of Mannar

(B) Bay of Maldives

(C) Bay of Ponnar

(D) Bay of Jaffna

(E) None of these

On which of the following rivers the

Nizamsagar project is located in
Andhra Pradesh ?

(A) Godavari

(B) Kfishna

(C) Tungabhadra
(D) Periyar

(E) Manjara

CGOEBA -13-01A
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In which of the following Indian State§

TSR Ja fremm 2 7 the Bandipur National Park exists ? -
(A) TS (A) Gujarat
AB) Fies (B) Karnataka
(C) =tivwRm (C) Andhra Pradesh
(D) memey (D) Madhya Pradesh
(E) 78 @ =13 & (E) None of these
26. Tmafafaga i g 5 2013 7 S . Who of the following has won the Noble
BIES R te=nror it R Prize for literature of 2013 ?
(A) tiem T (A) Alice Munro
(B) i Refim (B) Peter Higgis
(C) S Tty (C) James Rothman
(D) T=f= Wwmr (D) Eugene Fema
(E) T &/ 18 =i (E) None of these
27. va FreiiRaa 4 g a9 d 2018 In which of the following sports India
T A FREET R 7 will host the World Cup in the year
2018 ?
(A) B —
o) e
(D) ardE= y
) Al (D) Volleyball
(E) T AR 7

BB wierelt et i e # & g R

. "With which of the follow;j

(E) None of these

qaftag ? Ela Mennon is relateq ?ng area Anjolie
(A) T (A) Painting

(B) @fim (B) Music
€) Fmem i (C) Drama i
(D) woT=RET (D) Social Service
! (E) =79 q =5 =11 (E) None of thege 5
S CGOEBA_13= 01A Page No. 10 \ j
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29, aTEN VA frefiaa @ e @@ 3
gafa g ?
(A) T
(B) gt
(C) &
(D) FE
(E) T8 & FIL T

ﬁﬂmﬁuuﬁmm’@ﬁa:r@ﬁ?fgaﬂ?

31. %ﬁﬁzﬁmm%méﬁﬂﬁﬂm

(A) 385
(B) 409
(C) 429
(D) 505

(E) 535

’qmﬁﬁuﬁﬁazwaﬂmﬁa:ﬁ?ﬁﬂﬁa

frAwa??
(A) TreZafd

32.

(c)qa%a:qwmﬂ
(D)mﬂnénmﬂﬁ
E)aqﬂaﬂﬁﬁaﬁéaﬁi

e e
|
page No. 11
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With which of the following sport
Vichung Bhutia is related 7

(A) Volleyball

(B) Football

(C) Hockey

(D) Tennis

(E) None of these

At which of the following place the

Ministerial Conference of W.T.O. was
organized recently ?

(A) Colombo

(B) Bali

(C) Kathmandu
(D) New Delhi
(E) None of these

s were there in the

How many member
ording to the

ConstituentAssembly acc
Cabinet Mission ?

(A) 385

(B) 409

(C) 429

(D) 505

(E) 535 -

er to introduce an

Who has the pow
rding to Indian

ordinance .acco
Constitution ?

(A) The President
(B) The Governaor
(C) Supreme Court
(D) president and Governor Both

(E) None of the above
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VRN OOE R0 A B
33 FR A o Rduw A wRm S w2 7 33. Who approves the Finance Bill in the

(A) TR Centre ? .
(B) Trezafy (g) Enmij Mx:lster
Prepeie resident .
© - ((C; Fi Minister
inance Mini
(D) Sy
2 : m.:ﬂwaa (D) Speaker of the Lok Sabha
B B & (E) None of the above
34. wfaum # T g fre o o F et 34, Children of which age group are to
v/ FI R:IoF @ Afee fien syees w03 be provided free and compulsory
HIAEUHE ? education by the state according to
the provision of the Constitution ?
(A) 3 — 9 p itution
(A) 3—9years
(8) 6—147d (B) 6— 14 years.
(C) 6—18d (C) 6—18years
(D) 5—1694 (D) 5-16years
(E) 3uiaa 4 13 7 (E) None of the above

‘ 35 i 3 T e B el e 35. Which of the following states is called

R . so because of the increasin
HICT 311 < Tod 1 hgal & 7 importance of Public Administration ig
(A) ST T the working of these stateg ?
B) . - (A) Democratic State

(B) Administrative State

©) Wm N (C) Laissez-faire State
(D) THfirT T (D) Popular State
(E) 37 & i§ el (E) None of the above
. Triifa # & fresh frea 70 Fefieli & ' 36. Kings of ten tribes fought the - .
e e | Warinhevad;ag, oL Doty
(A) E™ (A} Raidasa
B) T (B} Sudasa
(C) drer (C) Somadasa
(D) farwem™ (D) Vipradasa
(E) T @ ¥ el (E) None of thege

CGOEBA - 13 -01A Page No. 12 e
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|TER AR R A0 R
(377 Pt 8 e e e A
' g 1 TG o ?
(A) ==T4
(B) Torgam
() s
AD) <Y
(E) S 7 Y I3 T

38. ﬁt{%‘@ﬂﬁﬂﬁa@;%ﬁamﬁgﬂﬁ
i e EER S 7

(A) T IERR

(D) TOT SOTEE
(E) 390 # & 1§ T

39. ﬁqﬁrﬁ‘aaﬁﬁﬁméﬂmwgzé.ﬁ

40. . 19 i vawsdl o et 3 Ryen-gAfETe
- aridvem 3 s Prettaa X A 6 A 7

R N e .

37.

38.

39.

40.
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Which of the following Mauryan Kings
was the follower of Ajivika Sect ?

(A) Chandragupta

(B) Bindusara

(C) Ashoka

(D) Dasharath

(E) None of these

Who among the following rulers of
Mewar accepted Mughal suzerainty ?
(A) Rana Ud_aysingh

(B) Rana Pratapsingh.

(C) Rana Amarsingh

(D) Rana Karansingh

(E) None of these
By which of the following treaties, the

Third Anglo-Mysore War was ended in
1792 A.D.?

(A) Treaty of Srirangapattanam
(B) Treaty of Madras

(C)- Treaty of Mangalore

(D) Treaty of Mysore

(E) None of these

Who among the following was the
pioneer of widow-remarriage movement
in Bengal in the 19! century ? '

(A) Raja Rammohan Roy

(B) Ishwarchandra Vidyasagar
(C) Keshabchandra Sen "
(D) Debendranath Tagore

(E) None of these |
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41. As pe‘f Union Budget 2013 — 14, the
fiscal deficit target for the Financial
Year 2013 — 14 was fixed at
4?‘0 (A) St & fr =1 3.5 wRys (A) 3.5 % of GDP
(B) S <t o1 3.9 wfirer (B) 3.9 % of GDP
(C) Sft & f 1 4.2 whivg (C) 4.2% of GDP
(D) St & ft = 4.8 sl (D) 4.8 % of GDP
(E) m 48 9K T (E) None of the above
%/ Frerfafea % % - TR YOAT 42. Which of the following is the oldest oil
/ R e w7 refining in India ?
;); (A) fewid (A) Digboi
{l7 (B) st ~ (B) Barauni
(C) o™ (C) Vishakhapatnam
(D) Tawr&d (D) Noonmati
(E) 3utaa # & ¥ e (E) None of the above -
43. HaNGEE fhg wie & oo s s g ? 43.  Which mineral is Malajkhang known for 7
(A) T (A) Gold
(B) 3ty= (B) Mica
(C) aﬁf (C) Silver
(D) dr&T (D) Lead
(E) s A = G| (E) None of these
- 44, Which ; '
T ol T & < o rgest o o repans, 6% s the
(A) B<rTg (A) Chhattisgarh
/@ (B) TEs * (B) Jharkhang
(C) =ieh (C) Karnataka
(D) m (D) Orissa
ENGCE R (E) None of the abqye
CGOEBA —13"07A Page No. 14
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QLD AL A
T 3 Frerfraa @ SR -1 Ygerad =

.

N

N
45. Which of the following is the Ieadmg\

N

TR 1 IAGH © 7 producer of petroleum in India ?
A) Surma Valley
,}D\ () o T ( ‘
. dhar Field
(B) MR ‘lﬁ(v? (B) Gandhar Fie
C) Naharkatia
(C) TEwHfeAT ©)
(D) Digboi
(D) feris
E) Bombay High
E) st BT3 ©
6/’ 46. Whatwas the total GDP of India in the
/:ﬁm A & SIgAR ad 2011-12% year 2011 — 12 at current market price
A AT hl Traferd shimdi W STRd &l '

\\0 S UL T &1 ot 7
(A) 10,028 TR 'S 3.
(B) 8,277 TR HIT%.
(C) 8,975 TR WS %.

(D) 5,244 TR WIS %.

as per advance estimate ?

(A) Rs. 10,028 thousand crore
(B) Rs. 8,277 thousand crore
(C) Rs. 8,975 thousand crore )
(D) Rs. 5,244 thousand crore

(E) None of the above

(E) ST | s e 47. What was the Compound Annual
/ . Growth Rate (CAGR i
/ 2012458 . . ) ate ( y ) of India for
ross Domestic Product (GDP
/ ST T TR 3 el ¥R I < TR 1 (GDP) at

e gfg = (CAGR) = @t 7

\%\ (A) 5.0 wfowra

factor cost over the decade ending
2012-137?

(A) 5.0 percent

(B) 5.8 wfawma (B) 5.8 percent
(G) 7.9 ufewra (C) 7.9 percent
(D) 8.4 wftwma (D) 8.4 percent
(E) 37t & & 9 7

(E) None of the above

CGOEBA - 13— 01A
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B3| wﬁwﬁmn@wm (@
ST <) Sr=fera it w) wn d ?

(A) 68,747 %.

————

(B) 61,564 %.
(C) 64,151 .
(D) 76,249%.
(E) Swrr # @ g e

T & q7 % SR w 2011-12
7 i § Rk a3 9 wdae o
wAfAIa AT AT ?

\\?/l" (A) 37.8 Wl
(B) g1.99ﬁm
(C) 2;8:@1;;
(D) 25.7 gfasrd

(E) 3Wiad d @ =I5 Tl

R hl Ficd Hehed B 3c91€ (GDP) 3 o
- 2012-13#° g:ﬁéaama’trmw a1 7

(A) 19.03 ¥fomTa
\}\ (B) 18.27 ufawra
(C) 17.37 wfa=ma
(D) 13.68 Wftrera
(E) 3Raa & § IS 7

GET IT ON
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48. What is Per Capita Net National
Income of India (at factor cost of current

prices) ?
(A) Rs. 68,747
(B) Rs. 61,564
(C) Rs. 64,151
(D) Rs. 76,249
(E) None of the above
49. -Whatwas the percentage of people below

" poverty line in 2011 — 12 in India as per

formula of Tendulkar Committee ?
"(A) 37.8 percent
- (B) 21.9 percent

(C) 29.8 percent

(D) 25.7 percent

(E) None of the above

S0. What was the contribution of Agriculture
Sectorto total GDP of Indig in2012-137

(A) 19.03%
(B) 18.27 %
(C) 17.37 %
(D) 13.68 %

(E) None of the above
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IR EAEH AR D
51. TG % TUH ST S@F HF § 7
(A) =1. sea vaTE fiy
(B) 9gmETet TS St
Gy TS FEEE
(D) 1. I E
(E) 378 & =1¢ el
52. =t witw # srmR @ g sdae
F UREFR R R 7
(A) HrEEITS wgeel
(B) S1. UTveR YHi
(LY FFew Tisa
(D) ST WS WY
(E) 578 & =18 =i

53. 31 wen wiita frafeea Fel fRa g 2.
(A) Reeeht
(B) W=t
(C) Agt
(D) TFTG
(Ey T & 0 7
@Wwﬁmwﬁﬁﬁaﬁqﬁ
] AETE B 7
(A) T
(B) ug¥
©) 7@
(D) =i fit @Il

E) FHAFRTE

51.

52.

53.

54.

GET IT ON
Google Play

\
N\

Who is the first Grammar writer of
Chhattisgarhi ? '

(A) Dr. Baldev Prasad Mishra

(B) Padumlal Punnalal Bakshi
(C) Hiralal Kavyopadhyay

(D) Dr. Hiralal Shukla

(E) None of these

Which Chhattisgarhi writer is related
to Chhayavad 'of Hindi Literature ?
(A) Makhanlal Chaturvedi

(B) Dr. Paleshwar Sharma

(C) Mukutdhar Pandey

(D) Jagannath Prasad Bhanu

(E) None of these

Where is Indira Kala Sangeet
Vishwavidyalaya situated ?

(A) Delhi

(B) Bhopal

(C) Maihar

(D) Raigarh

(E) None of these
Which of these is not related to Dhankul
recitation ?

(A) Earthen Vessel
(B) Bow

(C) Winnowing fan
(D) Bamboo split
(E) None of these

CGOEBA -13-01A
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Which Art form has been indicated in

. e fem Sinfmm e sifere W R 55. AR ;
h Tl 1 Hha B 7 the Jogimara cave inscription o
(A) TR Ramgarh ?
(A) Coockery
(B) wfderem ,
(B) Sculpting
(C) sfr _
(C) Acting
(D) HITgSSIT . .
. (D) Hair dressing
; {6 T S (E) None of these
S6. el 3 Hg SR & A § 56. What is the language of singing
T ) AT R R 7 Dhankul Jagar in Bastar region ?
(A) @i (A) Lariya
(B) fe=h (B) Hindi
(C) wewsht (C) Halbi
(D);T-{[EW (D) Sargujiha
(E) 38 & 8 -7 (E) None of these
. ‘ 57. Salphi i | : .
57. ST ofEe 3 TR el w1 ? regip:an ;S Popular as what in tribal
AA) T (A) Drink
(B) 7 (B) Animal
(C) Fff 3w (C) Agricultural implement
(D) T T T TR (D) A variety of Paddy
(E) 378 4 =18 el (E) None of these
. . 58. Whatd
58. 3T SIS % YAGHRAT H AT RN R ? b 3 ©es Dhumkuria meap, in Oraon
) (A) Shrine
(B) !!i@z“a’“q-{ (B) Chief’s houSe
(G) ﬂal.’lg (C) Youth dormitOry
©) wed (D) Path
' & Fd e . (E) None of these . |
~ CGOEBA-13-01A Page No. 18 \_
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e A3 gRem w2 ? : 59. Whatis Kusiyaar in Chhattisgarhi ?.
o (A) | (A) Paddy
(B) Fam (B) Banana
(C) Tfa= (C) Coconut
(D) = (D) Sugarcane
(E) 37 4§ 18 & (E) None of these
60. HY o2 FFAT 39 TFe FE@IR 7 60. Whatis the meaning of the word ‘Kos' ?
(A) TR T FT (A) Kosa cloth
(B) e (B) Bronze vessel
. (C) Book of Terms
(C) urieifyer 1<t A1 Ty
(D) Measurement of distance
(D) g =A™
. (E) None of these
T4 @ HIS T
61. Whatis the area under Bamboo forest
Selae | wia 97 w1 aAeA e 7 in Chhattisgarh ?
(A) 5553 11 fretR (A) 5553 sq. Kilometer
(B) 6556 a1 freHeR (B) 6556 sq. kilometer
\)\(:7 (C) 2500 =t frarfi (C) 2500 sq. kilometer
(D) 6914 o1} Frelix (D) 6914 sq. kilometer
(E) SqirFa 3 #E e (E) None of the above
. . 62. Whatis the number of land holdings in
ot # i <t T 7 & ? Chhattisgarh ?
(A) 34.61 @@ (A) 34.61 lakh
(B) 52.10@@ (B) 52.10 lakh
\1\ (C) 41.51@ (C) 41.51 lakh
(D) 29.87 @ (D) 29.87 lakh
(E) 3wl & I8 Tl (E) None of the above
Page No. 19 Set-B
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g A TR

2 ® o 2011-12 # faeredi =1 63. What was the production of cilseeds in

IR T a1 ? 2011 — 12 in Chhattisgarh ?
(A) 289 &=Ir 7fg A (A) 289 thousand metric ton-
(B) 352 &=m #fe= =7 (B) 352 thousand metric ton
\;},( (C) 401 &= afes 23 (C) 401 thousand metric ton
(D) 178 &= Az z7 | (D) 178 thousand metric ton
(E) 3909a | 1 e (E) None of the above
84, oAmTe UST wImafyE da T 64. The Chief Administrative Officer of
mmﬁ;_r, St g 2 Chhattisgarh State administrative
services is
' (A) g afE -
(A) Principal Secretary
(B) 7=m wfvua '
(B) Chief Secretary
(C) Teatag
(C) Home Secretary
i (D) Vidhan Sabha S t
’ " iIdhan Sabha Secreta
(E) 30 | 8 =18 78 ry

(E) None of the above
65. FHEIG e 1 wared Afuwrt gfew

TeTeTe fhges srfm e e ? 65.  Under whom the Director General of

Police of Chhattisgarh works ?

(A) Teafaa (A) Home Secretary
(B) srawaftaa (B) Under Secretary
(C) gfem werfriiars (C) Inspector Genera] of Police
(D) sgFa wfa (D) Joint Secretary
- (E) Iutrad | & w18 T8 (E) None of the aboye
66. HfIUM F1 F1 71 HINE FGiRufadE = > VYQ\'/TS gmendr-ner.“ °f the Constitution
T N Y Enunici‘; aﬁt?:sstgunonal status to the
(A) 70 =i (A) 70th
(B) 72a ' (B) 72nd
(C) 73 =i - (C) 73w
) 74 5 | (D) 7ath
(E) ¥ & = =i (E) None of thege
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67. 2011 H S % FATER SHETG H 67. What is the female literacy rate in
it anera R 7 Chhattisgarh according to Census of
2
(A) 56.32 SfErd =011~
A) 56.32%
(B) 59.58 wfiera *)
’ e (B) 59.58%
(C) 62.27 wfemma
(C) 62.27%
(D) 64.73 wfawra
(D) 64.73%
© A (E) None of the above
68. 2011 =l VAT & YR T BTUETG 68. Which district of Chhattisgarh ranks first
HE Rorem amar § gorg T W R ? in the literacy according to Census of
2011 7
(A) TEgR
(A) Raipur
(B) feremagt
(B) Bilaspur
) g (C) Durg
(D) = (D) Korba
(E) Iwea o =g =1el (E) None of the above
/ frerre & T R . (Hbl) o 69. Which district is having highest Human
E T a7 Development Index (HDI) value in
% Chhattisgarh ?
\)‘ (A) TR (A) Raipur
(B) =R (B) Korba
©) @i (C) Durg
(D) foremage (D) Bilaspur
(E) Iuirra & 1E 7t (E) None of the above
EBA -13-01A Page No. 21
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70. I AN F g wﬁrﬁ-ﬂ THa 70. What was the education dimension
o i wfdes 2011 % FER sub-index of Chhagfsgfr: :S per
; lity Adjusted Human
SeiaTe i Rve sttt 39— w7 UNDP Inequa
ik Development Index 2011 ?
A) 0.19
IR, ¥ (A) 0.192
-(B) 0.258 (B) 0.258
(C) 0.187 (C) 0.187
(D) 0.202 (D) 0.202
(E) 3w | =18 e (E) None of the above
) 71. During the Revolt of 1857 in
71. TG H 1857 % e % dww wiraH Chhattisgarh, who defeated the
% sffer, IREgE = e safse fear ? Zamindar of Sonakhan, Narayan Singh ?
(A) SfFe Xy (A) Lieutenant Smith
— B) Lieutenant S
. (C) Captain Blunt
(C) e =eie _
(D) Captain Crawfurd
(D) ¥ FTHe (E) None of these
(E) ﬁﬁﬁs‘qﬁ j 72. Who of the fOllOWing was the first
. ; d elected membe :
70, Ty 1 fRarEsT # 1913 # Ty v eloeied-from th; ‘;Lfsr;::attlsga";
‘ - uency o
wefiae 1 TRt %t & | municipal councils of Nagpur and
et sdETe @1 W gee ffafad Chhattisgarh in the egislative
LRI . :\;::r:bw of the Central Provinces in
(A) feraem <F- (A) Shivdas Daga
(B) Weéd A&HHIIAUIETH (B) Mahant Laxminarayangas
(C) Forma FHH T - -(C) Nathmal Munim
(D) TrawE= | (D) Shivprasad
E) Math
(E) W ) (E) uradas
No. 22 S
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73, werg & HumeRes A 1924 & 1926
ammﬂmﬁﬁafﬁamaaé:m
P § & w9 1/9 ?

(A) 3. TEE=E
(B) TR T
(C) wwmEE T
(D) 3R BT
eyt

74. 1920 H 37 i T Terdrel TSAiRETE
g .. 9. firel & #fiei i geare &
g A TR an 7
A R e fie
(B) A1 w9
(C) FIIEH
(D) 37egdd &
(E) 378 @ g 7@l

[//aﬁwmmeﬁam 14 sl
19323ﬁmrr<zﬁsﬁq%ﬁaaﬁaﬁm

Wﬁ@nm%m‘%@t'ﬂmw
a7

73.

74.

75.

GET IT ON
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Who of the following was/were the
elected members of Swaraj Party from
Chhattisgarh from 1924 to 1926 in the
Legislative Council of the Central

Provinces ?

(A) E. Raghavendra Rao
(B) Ravishankar Shukla
(C) Ghanshyamsingh Gupta
(D) Thakur Chhedilal

(E) All the above

Who led the strike of B.N.C. Mill workers
of Rajnandgaon in 1920 which lasted

for 37 days ?

(A) Thakur Pyarelal Singh

(B) Madhavrao Sapre

(C) Qutubuddin |
(D) Abdul Rauf

(E) None of these

Who of the following leader of
Chhattisgarh was elected ‘dictator’

on 14 January 1932 for the entire

central provinces during the Civil
Disobedience Movement ?

(A) Thakur Chhedilal

(B) Ghanshyamsingh Gupta
(C) Thakur Pyarelal Singh
(D) Ravishankar Shukla

(E) None of these

L ————
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76, Wil Wi ) 12 | ST waifdra R
(A R dam
(B) sl Rasma) Q
(C) M @
(D) SAuz vsEl
(E) Swfwr A @4 ) o
77l R ) s ) vy ven
TR
(A) TS YA
(B) 1y wywA
(C) Rwt fawm
(ORGSR
(E) Iwis 3 Q 91 7l
78, R B & e ww R Do wn wsy
W QAR T@IR ?
(A) TS IR/
(8) fren W vt
(S RESIEISEIREIR]
(D) i Rww Wit
(E) Sugr 3 A 0 Tl

79wy Rer ) g w0 uay ikum

¥ frm orgeae A e @ 7

(A) 3. 243 () AN g, 243 (%)
(B) 377, 243 (%) 3N Y. 243 ()
(C) a7/3. 223 (W) AN Y. 223 (W)
(D) ¥3. 223 (%) ¥R 3. 223 (W)
(B) 3w 3 @ wid Tl

76.

77.

78.

79.

GET IT ON
Google Play

12t Schedule of Indian Constitution g

related to
(A) Zila Panchayat

(B) Urban Bodies

(C) Nagar Panchayat

(D) Janpad Panchayat

(E) None of the above

The taxation power of Urban bodies
is provided by

(A) State Government

(B) Urban Administration

(C) Finance Department

(D) Finance Commission

(E) None of the above

Who prepares the development plan for
entire District ?

(A) State Government
(B) District Statistical Officer
(C) District Planning Committee

(D) Urban Development Authority
(E) None of the above

In which Article of the Constitution the
structure of loca) bodies ig provided ?

(A) Article 243 () ang Antigye 243 (3)
(B) Article 243 (%) ang Anticle 243 (9)
(C) Article 223 (w) ang Aryigye 223(7)
(D) Article 223 () and Article

223 (’)
(E) None of the above

CGOEBA-13-01A

Page No. 24

Set-B

i aacio '


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

U IR AR
80. oty  for AT WM & 7 0.
(A) €=
(B) 9T
(C) u=
(D) ©®
(E) 37 @ =1 7
81. wdTg Tea § e & wHw dial 2 81.

kg < oy e qfy e férerd 1
ITea 8 7

(A) 12 wfawa
(B) 16 wfard
(C) 15 wfaera
(D) 13 wfawrd
(E) sa_ﬁ_ia»’ré?a"f
82. mwﬁﬁnﬁia%é‘sﬁmm’
A IHSATAE ?
(A) foreg
(B) &I
(C) T
4D)
(E) 3798 & Fr§ T

S R
(A) Fauf 7
(B) SRR
(G) Fran (afem) #
(D) ®ren () &
(E) 378 @ 1§ Tel

—~—

82.

83.

CGOEBA -13-014

GET IT ON
Google Play

How many administrative division are
there in Chhattisgarh ?

(A) Three

(B) Four

(C) Five

(D) Six

(E) None of these

What is the percentage of irrigated area
in Chhattisgarh State from all sources
of irrigation 7

(A) 12 percent

(B) 16 percent

(C) 15 percent

(D) 13 percent

(E) None of these

Which of the following is known as
the energy capital of Chhattisgarh

State ?

(A) Bhilai

(B) Sarguja

(C) Raipur

(D) Korba

(E) None of these

Dr. Shyama Prasad Mukherjee
Thermal Power Plant is located in

(A) Kawardha
(B) Ambikapur
(C) Korba (West)
(D) Korba (East)
(E) None of these
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e end of the financial year

fasia and 2011 - 12 & g wadam 84. At th i~
I J2= . . - number of un-electrified
% faega - fadm wiidi ) g o 2011 1-2'c;hhattisgarh was
villages In
(A) 548
g (A) 548
9\ \5)Ea (B) 633
Gl 442 (C) 442
(D) 579 (D) 579
(E) 78 @ ¢ ¢ (E) None of these
Y — 85. Forwhom the Cht_wattisgar_h Sogchana
- R e e g 2 v Shakt! Yojana is running by the
R i = Chhattisgarh Govt. ?
(A) aé':;am Fa sz Ao F (A) This scheme is for S.T. Girls
. . e v 4 (B) This scheme is for the BPL family
(B) =z === il v | A9 wedara girls
e mﬁpﬂ’j‘? form 2 (C) This scheme is for all girls
(C) 7 = anferdsii & fem, } _ (D) This scheme is for S.C. girls
(D) 7z wryfaa sufa f anferansi & fam B (E) None of the above
(E) 39014 | &1 3¢ .
- 86. z\cl)hlch Iol the'following criteria is not
- /o b . s mpulsory for Chhattisqe i
( ez Wmﬁ W F2A I WA F Minister's Children z}ljgi?tq r\.’?lecl:frzl'reef
fero @y o araan sifqad a# 2 7 Scheme ? ‘
N\ (A) THTE #1 5a fFanh (A) Native of Chhattisgarh
9 (B) il ®q @ sragwal (B) Financial incompetence
(O RICIRL IR CIRE (©) :‘;JS::me In below Poverty line (BPL)
(D) 9"8?” '-'"1 st weam (D) Institutions contracy, I :
(E) i @ @7 7] Govemnment alised with
~7 . ) (E) None of these
7. wdmmg W aagmn w0 e fam £
ad i wE 7 - In-which year Ra;
(A) 1882 4 1880 sgarh 7
(B) 1894 (B) 1894
(C) 1911 (C) 1911
(D) 2000 (D) 2000
(E) @ & 1§ ¢ (E) None of thegg
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C) B ot 6t 359 e TE A H
AT

(D) ARF BEEf
(E) 3 & &5 &l
89. weftadt ghen ¥ fre wefeg # fryges
BH AR R
(A) 100
AB) 108
(C) 1008
(D) 151
(E) w# @ &g TE

90. uﬁtﬂﬁnﬁmﬁaﬁﬂaﬁmﬁ@m%?
(A) T =t
(B) faafim sft
(C) i T
(D) &
(E) T8 & 5 el

91, weheg § Frefefaa # @ faw T o
Wmm@m%?
(A) ST
(B) wriRHg
(C) FuRfry
(B) ®wEn
(E) 77 @+ el

" "CGOEBA - 13 - 01A

88.

89.

90.

91.

GET IT ON
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What is the name of special scheme for
education and overall development of
students of Naxal-affected areas of
C.G.Govt. ?

(A) Chief Minister's Child Security
Scheme

(B) Girls Education Incentive Scheme

(C) Scheme related to higher
education facility to talented
students

(D) Post matric scholarship

(E) None of these

What is the tolliree number for
Sanjeevani facility in Chhattisgarh ?
(A) 100

(B) 108

(C) 1008

(D) 151

(E) None of these

Which of the following vitamins is
deficient in night blindness disease ?
(A) Vitamin C

(B) Vitamin B

(C) Vitamin A

(D) Vitamin K

(E) None of these

At which of the following place in
Chhattisgarh there is a mechanized
underground coal mine ?

(A) Sohagpur
(B) Manikpur

(C) Chirimiri

(D) Korba

(E) None of these

page No. 27
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CRRACA L f the following is the firg;
BTG # wd wen wnfid @ife FRamT 92, Whicrt:I;Jthee?j Semeil factory
Frerfifam 5 4 w2 7 g;famsgam ?

(A) Se Hivfe sHram (A) Jamul Cement Factory
0’% (B) ﬁ’gﬁ e FrEE (B) Century Cement Factory

(C) et wiife wr@m (C) Modi Cement Factory

(D) e itz Hr@m (D) Raymond Cement Factory

(E) ¥4 & = el (E) None of these

93. F=fafes & & wwa wm Fagiat i 93. Which of the following place was not

T 7 oy 7 the capital of Kalchuris ?
(A) Bt (A) Tripuri
(B) qrTmr (B) Tumman
(€) SrTeeg (C) Jajallapur
(D) TR (D) Ratanpur
(E) w8 & 218 7 (E) None of these
@/m?aﬁmmmﬁ ‘I{a’l’ qr] o \évhhr;a(t)tfist;g:rh:,aiﬁtrgedltrxzfé ?I:e ‘Suba’
¢ system 7
(A) Foamsh (A) Bimbaji
(B) TFerurrsiy (B) Chimnaji
(C) =r=ift (C) Vyankoji
(D) wTEsh (D) Parsoji
(E) 378 A #1 7 (E) None of these
95. wiiEen TS W fafewr weawr 4 apafy i 95, \é\luho . ¥8s  not appointed as
T weftag 1 e Frgw T e thep;eazrr]ifc? %?néqf.chhamsgarh during
™ ? BRosla Kingdor 5 " teclorate on
(A) 2 Terie (A) Captain Edmyng
(B) ﬁm‘rﬁ. I TR, (B) Major p. Vans Agne
(©) F=7 g (C) Captain Hunter H
(®) ¥ sfve (D) Captain gyjig
(E) ¥8 3 1S (E) None of these
CCORBA= T3 g4
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100 O 0O

.gg’u'&ﬁmaynmﬁanmqeﬁﬁwm
/ feraft 2 7

(A) 1113
(B) 1156
(C) 1070
(D) 1189
(E) Ixaa 8§ 18 T&

- 97. “werg # Uew wmEa & frafameEi A

S e R ?
w7
®) 6
() 14
(D) 5

(E) 37ad | F15 Tl
os. =¥ 2012 — 13  TefETe & ISAMERT
werferenerd # st s g e oft ?
(A) 27680
(B) 22770
(C) 16860
(D) 19590
(E) Ixad 7 g T
0o, werg 1 fa faerd 3 et W
Eﬁo’lmﬁmﬂaﬁ%?
SECEEIS
(B) a1 T =udt
(C) T FHIA
(D) sl g
(E) 378 @ g e

CGOEBA - 13 -014

96.

97.

98.

99.

- (A) 27680

GET IT ON
Google Play

What is total number of Ashram Schools
in the State of Chhattisgarh 7

(A) 1113

(B) 1156

(C) 1070

(D) 1189

(E) None of the above

What is the number of State
Universities in Chhattisgarh ?

(A) 7

(B) 6

(C) 14

(D) 5

(E) None of the above

What was the sanctioned admission

capacity of Engineering colleges in
the year 2012—13in Chhattisgarh ?

(B) 22770
(C) 16860
(D) 19590
(E) None of the above

Which of the following players from
Chhattisgarh has performed captaincy
of Indian Hocky team ?

(A) Neha Bajaj

(B) Tandra Roy Choudhary
(C) Saba Anjum

(D) Anjani Patel

(E) None of these
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-

10 O D0
@ 7§ 2013 1 RvaeT TATE H1 A F
. g
(A) 19 — 25 Fam
(B) 19 — 25 fmew
(C) 12— 183ma
(D) 12-187%
E) 3 @ % 7
RG STFAFT o FTER 2004-05 T B
Hdl Wad 2011-12 ¥ seie i

el T4 T 3T (GSDP) # faefiash

(7 (A) 28:80 wfererd
(B) 32.05 wfoeTd
(C) 24.50 e -
" (D) 39.00 %@
(E) swa § Hrd 7t

1957/ refrerre 1 o 2012-13 # T =,
TS & Whel SR, 3% (GDP) F1 Frn
- wfewr o ? w
(2( (A) 3539f@

(B) 3.00 yfawra
(C) 2.10 wfawra
() 2.82 Wfewa
(E) Swiea ¥ hig el

/ 2012-13 1 IFFAed Fitez = ot ?
~. (%Q (A) 13,172.80 TS ¥, -
" (B) 21,184.35 FS %, -
(C) 32,296.56 FITF.
(D) 9,577.58 FIEE.~ |
SE AR S

100.

101.

102.

103.

2012-13 of Chhattisgarh 7

- (D) Rs. 9,577 .58 Crore

GET IT ON
Google Play

world Heritage Week

the
When was g the year 20137

celebfated durin
() 19— 25 Novempe!

(B) 19— 25 DecemPe!
) 1218 April

E) None of these

What is the sharé of secondary sector
to GSDP of Chhattisgarh for the year
2011 — 12 on constant prices of
2004 — 05 according to quick estimates ?

(A) 28.80 percent

(B) 32.05 percent

(C) 24.50 percent

(D) 39.00 percent

(E) None of the above

What was the Fiscal Deficit of

Chhattisgarh to its Gross Domestic
Product (GDP) inthe year2012-13 ?

(A) 3.53 percent
(B) 3.00 percent
(C) 2.10 percent
(D) 2.82 percent
(E) None of the above

What was the outlay approved by the
Planning Commission for Annual Plan

(A) Rs. 13,172.80 crore
(B) Rs.21,184.35 Crore
(C) Rs. 32,296 56 Crore

(E) None of the above
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AT PR MO M AR AU AN E W
7 ad 2011-12 #, SeitETg T A R 104. What was tax Revenue Receipt of
s il @4 i ? Chhattisgarh State in the year2011 =122
90\ (A) 9,145 &3, &. (A) Rs. 9,145 crore
(B) 7,269 F1E. ®. (B) Rs. 7,269 crore
(C) 8,383 FIe. ¥. (C) Rs. 8,383 crore
(D) 10,712 F2. %, (D) Rs. 10,712 crore
(E) T o #18 Te (E) None of the above
4 AP mzﬁgﬂ v 105. What is the percentage of Forest Area
cﬁmmfaﬁmaﬁvm? . to total geographical area of
Chhattisgarh ?
@ (P43 g5 (A) 43.85 percent
(B) 48.12fara (B) 48.12 percent
(©) 49.67 fazrd (C) 49.67 percent
(D) 40.21 gfama (D) 40.21 percent
(E) Fwivaa 3 g A (E) None of the above
106. Aardien # ee aEE @ E PULRICE] 106. When was the first iron ore mining
@ A T 1 plant established in Bailadila ?
(A) 1980 (A) 1980
(B) 1963 (8) 1963
(©) 1968 (C) 1968
() 1674 (D) 1974
(E) None of these
(E) s @ wrd ¢
—""" page No. 31 Set-B
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/107, T i i e 0 i o ?7 107. Which mineral reserve deposit is there
ol

(A) St 30 in Kudarvahi ?

(B) I &1 TR (A) Iron-ore
(B) Lime Stone

C) SR

EDZ EIESIEL (C) Dolomite

(E) #nfa= (D) Bauxite

(E) Manganese
108. AHRIH die 1o &9 H ) qedie 3§

i hsil Aridongri iron ore area
Rt 7 it
(A) TIIIATIR (A) Bhanupratapapur
(B) TR (B) Narayanpur
(C) 3 (C) Orchha
(D) =wverTa (D) Kondagaon
(E) % & 1S i (E) None of these
‘10’; | Trafafaa srwamed #§ S g T 7 109. Which of the following is the biggest
/ ‘ oy sanctuary ?
- (A) Pamed
©) (B) Barnavapara
M (C) Udanti
N (D) Sitanadi

(E) None of these

110, welt T <t T T R 10. - The tributary of Sabyi riyey

(A) TR (A) Kanger

(B) wrhre (B) Paralkot

(C) (C) Nandiraj
(©) wiferh (D) Sankhini

(E) ¥ & o 7 (E) None of these

n " 2 i‘,\\
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111,

112.

e} T vd fea Wi # ST BT R ?
(A) 3G

(B) wfda

(C) w&A

(D) avmE

(E) T8 & =13 7l

TR ofae A qraReE g et T R
qT A g e ?

(A) af@

(B) f&=ht

() &

(D) wesft

SR
1 mﬁm-mmmmm
fafer o fer ST @ 7

s

114.

\

(A) mT gfofa

(B) =i Qe T

(C) SHTseHl

(D) ¥ & T

(E) T8 & F1§ el

<ha ¥ waferd HEdl W
2011—3:??@;?;9%“@‘%3“
F et ?

(A) 27,156

(B) T 52,689

(C) % 41,167

(D) % 46,743

(E) Sxdaa & g et

CGO

EBA-13-012

111.

112.

113.

114,
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Goncha festival of Bastar is
celebrated in which month ?

(A) Aashadh

(B) Kartik

(C) Sawan

(D) Vaishakh

(E) None of these

What is the language of traditional
singing of Ghotul Pata in Bastar region ?
(A) Lariya .
(B) Hindi

(C) Gondi

(D) Halbi

(E) None of these

On which day of the Hindu calendar,

the ‘Putra Putri’ marriage (wedding of
dolls) is organized ?

(A) Magh Purnima

(B) Kartik Shukla Ekadashi

(C) Janmashtami

(D) Vaishakh Shukla Tritiya

(E) None of these

What was the per capita income of
Chhattisgarh at current prices in the

year 2011 — 12 according to quick
estimates ?

(A) Rs. 27,156
(B) Rs. 52,689
(C) Rs. 41,167
(D) Rs. 46,743
(E) None of the above
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What is the GSDP Growth Rate Target

for the 12th Five Year Plan (2012-17)

fixed by the State Government ?

Rajim Kumbh Mela concludes on

Where is the main seat of followers of

Kabirpanth situated in Chhattisgarh ?

115. TST @R g0 12 df g=adfa s | 115,
’ (2012-17) & oI Thel T wig] 3G
(GSDP) gfg @ =1 Fuifa@ asg s 8 7
(A) 10.00 wferera (A) 10.00 percent
(B) 8.80 wftwra (B) 8.80 percent
(C) 9.00 wfterd (C) 9.00 percent
(D) 11.00 wfawra (D) 11.00 percent
(E) I # 18 7 (E) None of the above
116, TR gt e R AR |
(A) Tt (A) Ramnavami
(B) 1&rd et (B) Akshaya Tritiya
(C) weTHRmaw (C) Mahashivaratri
(D) =hrfdien o (D) Kartik Purnima
(E) 378 & ®IS el (E) None of these
117. odaTe # ey F gl A adeE | 117
T T e e © 7
(A) TR (A) Rajim
(B) FZWE (B) Kudurmal
() waut (C) Kawardha
(P) TS (D) Damakheda
(€) Tt & = 7 (E) None of these
Page No. 34
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118, weETd wahE a7 A T FREY | 118, To which the traditional Chhattisgarhi

Hafae ?

o, e song ‘Aa ho debi ganga’ is relatéd ?
(®) fare :(A) Bhojali

(©) et (B) Marriage

D) et (C) Jasgeet

(E) i & < (D) Baansgeetl

119, THETA ARF TS BFHAG] F AW

(E) None of these

Who is the writer and-director of -

e F 2 7 119

(A) s TR Chhattisgarhi play ‘Baja Foklawa' ?
(A) Habib Tanveer

(B) W e (B) Rakesh Tiwari

(C) Pl 75 (C) Mirza Masood

((l;)) ;ﬁ‘:‘;ﬂﬁz:{gﬁ (D) Subhash Mishra

CGOEBA -13-01A

—/ ;
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(E) None of these

Which of the following persons has not

120. =@ @ ‘Rrey T T wEE R TS| 400,
TR 7 received National ‘Shilp Guru’ Award ?
(A) S ST (A) Jaidev Baghel
(B) HHTETS (B) Sonabai -
(C) gl (C) Sundaribai |
(D) mifaeTE A (D) Govindram jhara
(E) 7 @ #1$ T (E) None of these
121. TR fret & fre et <1 g = T 121. How many c}istricts border are there in
27 . Raipur district ?
(A) 5 (A) 5
(B) 4 (B) 4
©) 6 (C) 6
D) 7 (D) 7
€ i a 2 7 (E) None of these

Set-B
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e e S S S ——
1] nnmnmen
THETE % wret 1 i @ ufRm w1 wd ww
2

(B) ST W, SR 9T, WK Uiz, A5 Ui
(C) SR U, S ure, #eare, sfig are
(D) SIgt re, S wre, sefi i, A e
(E) 7 & = e

> (A) T 912, SR e, ST wre, A9 e

123. M9 7 warfea wrft &
(A) =ifen &
(B) IR &
(C) setmy &
(D) wTrs-sermR &
(E) goIqi-=hifen |

124, STTYRER vEre fRm
(A) =it &
(B) seRmR A
(C) g &
(D) T &
(E) 7 & % 7

125. wewd i v e R
(A) @re
(B) nfrd
(C) s
©) =
(&) W%t ¥ wré 7

GET IT ON
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122. The right order of pats from East to

123.

124.

West in Chhattisgarh is

(A) Jamira pat, Jarang pat, Jashpur pat,
Main pat

(B) Jarang pat, Jashpur pat, Jamira pat,
Main pat

(C) Jashpur pat, Jarang pat, Main pat,
Jamira pat

(D) Jashpur pat, Jarang pat,
Jamira pat, Main pat

(E) None of these

Gopad river flows from
(A) Koriya

(B) Surajpur

(C) Balrampur

(D) Surguja-BaIrampur
(E) Surajpur-Koriya
Chhangbhakhar hill is Situated in
(A) Koriya

(B) Balrampur

(C) Jashpur

(D) Surguja

(E) None of these

125. Tributary of Mahanadi is

(A) Kharoon

(B) Maniyar;

(C) Ampa

(D) Kelo

(E) None of thege

- =014
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126, 3 @ o | wE || Re SR T 3N IEH
uwaraaftﬁwsi(s:)aﬁt (@) Resmwr )
27 FoE! =) g 7Hd ge, FEfafad 3 @
7 Y gfee @ Fra Freand Fise weraT @ ?

| Bt o g, g |
I, @xft zeh, FRE |

foreend -

(1) go =g, gl M
(@) FB FL, qTEWE| v

(A) Faa (1) Frehd 21

By Fae (F) Frad 2

(C) (37) @ (&) I1 e & |
(D) = (37) 41 (9) Frehd 2 |
(E) 7 (31) st A& () Frerd 21

3 fow o e F e @ A Ry 1w
fra e ® | e i b o @ el

(vare) @ 7
w1 A A wETRraTerEl #
. freafrare w1 g @ ST
=fe 7

> 3 (A) e 7 | SR R
" (@) e o 21
Y@ iy 2
., (D), 2 e ot
B e ok el T

CGOEBA-13-01A .
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126. Two Statements | and Il given below
are followed by two conclusions (a) and (b).
Supposing the statements are true,
which of the following conclusions can
logically follow ? .

|. All buses are trucks.
Il. All trucks are cars.

Conclusions :
(a) Some buses are trucks.
(b) Some cars are buses.

(A) only (a) follows
(B) only (b) follows
(C) both (a) and (b) follows
(D) either (a) or (b) follows
(E) neither (a) nor (b) follows
127. Statement given below is followed by
two arguments | and Il. Decide which

argument is strong (effective) ?
Statement: Should college be
given the status ofa
University in India ?
Arguments :

l. Yes. Colleges are in a better
position to assess the
students.

Il. No. It is utopian to think that
there will not be neopotism
and corruption in degrees
being awarded by colleges.

(A) only Argument | is strong
(B) only Argument Il is strong
(C) either lorllis strong

(D) both arguments are strong
(E) none of these is strong
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e 3 | 33 SN &1 wa FRO A
(qu) R4

U #‘énmiﬁ:’z # woan min
7 ) R s e & fam

a@n w fata agr 6 fam |
T VA %28 331 e |
3!3"“'-" :
| &dw e iz wwEn & frm
fyata galan 7m0 2
N 23 e e wEEn F wHE
¢q frata v s gfaa 2
M 33w ure W wwEn #F GHvE
@1 wHars 3w faata R

(A) 1Td il
(B8) HuaEll

127- 4 fou Mo FuA F 97T FO FIAA 20 128. Statement g

(C) L, nua i
(D) Faa |
(E) =8 @ =rd =

- ﬁéﬁqmm#mmy@mﬁnm

#1338 3EA F sifan 1 ST (3344) 129.

21
Fus - GEa AEEE gl 2 |

HETA
1. T e E R
0., ST ATEEE ¢ e |
W, faan erfaEneE T |

(A) #4344 |
(B) #aa Il

(C) 1w@am
(0) =il 1, 1
(€) Wi & w1 7

GET IT ON
Google Play

jven below IS tollowed by
few assumptions: Choose the valid

assumptions.

Statement The BOP (Balance

of Payment) crisis
has worsened and
the govemment
should make every
effort to boost

expors.

Assumptions :
| Exports are the best solution

to avert the BOP crisis.
. Exports are a reasonably
good solution to the BOP

C!IJIJ
Ill. Exports are the only solution
to overcome the BOP crisis.

(A) land Il
(8) ltand Il

(C) I, lland Ili

(D) lonly

(E) None of these

Statement given below is followed by
three assumptions I, Il and IIl. Find
out the invalid assumption.

Statement : Friendship s
beneficial.
Assumption :
I. Enmity is harmful.
Il. Enmity is not beneficial.
ll. Friendship is
P IS not harmful. gé’

(A) 1 only 4
(B) Il only M3§o
(C) land Il 3) 72—
(D) 1, land Il e

(E) None of these X3

3¢o
s

106
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/130.) # fav o, o 2 A ol frepe
o R ) 3fia fofa fasen @ gAE FRe)
o : fama @ aal # fsh & &
grfatfe @1 adaq e g
AgFel
favig faerea
I frsh &3 & sd=nfEl o sy
ST AT e |
Il st & & adaniE) @ aad
ofi g & =nfen |
. da= & 3 gfa it w=hpfa Tl
2 =nfew |
(A) Faa |
(B) Faa I
() Tma Al
(D) @t
(E) TG 1 TE
131. Us afdd 3 630 ®. 3 2 afeal @lid | T
@ F I 20% T T 3T FE

GET IT ON
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130. Statement given below is followed by

- (A) Only |

/ (B) Only Il C,Z”o
(C) Eitherlorll %
(D) All ¢3° 2
(E) None of these 24 )(lk?

three alternative decisions. Choose

which one is appropriate ?

Statement : The salaries of
private sector
employees has
nearly doubled in
the past two years.

Altcrnative Decision:

I. Higher income tax should be
imposed on private sector
employees.

IIl. The wages of public sector. s
employees should also be
doubled.

lll. A further rise should not be
allowed in salaries.

2+
4

A man purchases two matche

131.
15% @1t 9 ==, fsmfi 3@ A A g Rs. 630. He sells one at 20% profit and
37 & w1 | Teeh Bl < A e other at 15% loss. Then he neither gains
F | o @3 o—-i) nor lose. Find cost price of first watch.
32”7 - A
(A) 380 | oo (A) 360 aac?xi/“ 217
(B) 260 ﬁ%@‘i - 442 (B) 260 </ i ¢ -
! C) 270
ey 270 72~ (©) 538%28 a4
(D) 370 é-} )‘{F‘} (D) 370 ..———74——'""/%29
- E) N f thes
(E) 378 & 1§ €l m,,/ (E) None o e B&_g’,y@ ?.4:333
No. 39 G Set-B
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0 O 00O 0 min
% fm # 200 km, | 132. A boat goes 200 km downstream i
132. ;= 7@ T & WEE s q% 20 hours and 100 km upstream in
20 a%ﬁai’;(a:z:ﬁqﬂ:; ?%k:q; g 25 hours. The speed of the stream is
EREICIES s -
i . v (A) 7 km/hr
® 7%:11./@ o (B) 5 km/hr
IEA S/t Z 2% A (C) 3 km/hr
: Va
C) 3 . /e \
© e 5-2_ (D) 2% km/hr
D) 2, T, [e Wha [—
-0 A 9 '{’2/ T (E) None of these
(E) ‘ .
133. In what proportion should one varle't\'/
133. O e & o et o =, 9.50 Wi of oil at Rs. 9.50 per kg be mixecf with
ﬁ‘m‘mq%,ﬁﬁf{aiﬁﬁw = %aﬁ'aﬁfﬁtr; another at Rs. 10 per kg to get a mixture
% 105 5 %?:;TZHTHQ 60 TR worth Rs. 9.60 per kg.
Toreman s 6 fysmn . 9.
Tt €1 st ) " (A) 4:1
JAT 4:1 g '6° (B) 1:4
(B) 1:4 RIS (C) 3:4
.0y (O 3:4 33 Jo (D) 4:3
“€s (D) 4:3 4% >'d (E) None of these
SN (B) v A B 2
, gt 2 o 134. Atruck travels a distance of 840 km at
24,184, T 7 WA IR & Tere 840 A, a uniform speed. If the speed of the
Tl ghmwm b AR AR 10 Rea.) truck Is 10 km/hour more, than it takes
o it gl 3 98 gl | 2 hours less to cover the same
2 Y21 1 HHY T | 3 o) 3@ MRy 9 , distance. Find out the original speed of
F | Gy \ the truck. -
Cle  (As0fe. e 3% (A) 40kmr
—x{B) 50 T, /o / *(B) 50 km/hr
(C) 60 km/hr
(D) 170 kmvhr
,‘(E){ane of these
"1 Page No. 40 _
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o) 18 ‘{
>
(RO WAL AR TN y
\135 2 aréq 31 A A T oF &1 FAe: 10 Ud 135. Two pipes A & B can fill a tank in
15 o=z i wrA & 1 wig 9ré | w1 Eh 10 & 15 minutes respectively. Butan
5quznzg1a‘1m%|uﬁ:muvaa empty pipe C can empty it in
4&32?13’11?17?3?!7874‘(’"1!713‘1‘{1115 5 minutes. The pipe A & B are kept
0 &1 5= fay wwg 1 @il M ? open for 4 minutes and then the
empty pipe C s also opened. Inwhat
(A) 10 fe ‘ ] 1_ time is the Tank emptied ?
(B) 20 f&z - +7 g (A) 10 minutes
(C) 30 e _3/*1&@% (B) 20 minutes
(D) 40 faFz ) 7e M (C) 30 minutes

o "
(E) 758 & =18 771 3 (D) 40 minutes
(E) None of these

136. ﬁqmﬁ:ﬁﬁﬁﬁmmmmzﬁﬁ
136. Choose the word which is different from

T F s wred A fiE R .
' other words in the group ?
(A) Wﬁ ) (A) Axe
{B) D (B) Sword
(C) = (C) Knife
JD) FTAET (D) Shovel
(E) T A aF1é Fé (E) None of these
- 137. The words in the first set have cenain
g A o1z a1 va e FaaRITH
i i ) F fou wh relationship. On the basis of this
e 5 % m‘l . relationship make the right choice for
LR R w1 f second sel. .
Tz aravar o 7 Accident : Caretulness :: Disease : ?
JA) eodl (A) Sanitation
(B) IyaNt (B) Treatment
(C) zaré (C) Medicine
(D) fafer {8) Bosior
(!
(E ﬁﬂiﬁﬁi:ﬂﬂ (E) None of these
) ~ ,

‘/L‘—
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(EMIENNNENEN
138. P saen # seh wEm | Er 138. Find the next number in the following
m 9 series
10.325.4. 7 1,0,3,2,5.4, 7
(A) 9 (A) 9
(B) 10 (B) 10
(C) 8 , (C) 8
iB) 7 (D) 7
(E) 74 8 =13 7 ~ (E) None of these
o 139. Mukta is facing North direction whiloe
139. HF1 3w fawn 1 37 gg FF @ 2 | 98 standing. She tumns clockwise 1357,
gfaumad fem B 135° gwdt 2, = 180° then she turns 180° clockwise. Again
gfaumad fen & gudi 2 | TETTETE 98 270° she tumns 270° antlc;loc_lese. Find out
- & o . irecti i ng now.
amEd from & gudt 2 ) 313 9z frm R the direction she is facing
L ze R El (A) North-East
B) North-West
JA) ITT-E (B)
B) 3e-4fR (C) South-East
(B) se-3% %’é (D) South-West
(C) =hm-d (E) None of these
(D) zfau-ufzam _ .
——_— 140. Find out the answer of the question
(E) Z78 B F1E 7@ after analysing statement | and II.
~< O\ ) ) Question : On what date is
7140. fzu T gwd &1 3T F44 | vd || 1 favem Smita's  birthday ?
//ar{fﬁ T2 F | Statement: |. S_mitg's zodiac
v - fard & sfea e A an e 7 sign is Leo.
Yy Il. Sh
waa : | faa @ afa ﬁ? ffrr'.v?.. thees‘igi?hs é);rgoc;n
II. 38 I UEH & F2d faan the month.
W e ) (A) Only Statement | is sufficient to
(A) Faa F7 | IW 21 & fo wafa 2 g"me"he question but Statement Il
qig @ || A 2 | (©) Only .St t
. . atement || js ici
By #aa FA || IW 23 & fore gaia 2 answer the question b aricient to
. . ut Statement |
qig F | TE 2| is not.
C) 2Hi &9d | wd |l IW 37 & fore st (C) Both Statement!and || ar
(/ ) F) to answer the questions.etoge‘her
- . D) Eith
(D) 71 & e | Fera U || WA F9 - & is su‘i{icsié?,'ﬁg‘gﬂgv‘;', tsh'a'eme'!‘ i
I WTH Fd 2 | independently. e question
(E) =i @ = 78| (E) None of these
e ———
-01Aa
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141, @ el A SEEE 17,200 R ) qe o 141, Population of a city is 17,200. First year
g 35% wgedt R 3l qut ad wg 15% wed) . itincreased by 35% than second year
¥ 2 ad ¥ gyag W gu wE A Swien it reduced by 15%. What will be the
frahenf 7 - : o population of a city after 2 year‘s‘?'
(A) 14,000 %‘A o 2 : (A) 14,000 . -
(B) 12,900 % ' (B) 12,900 9 ah ¥ 3
G 44
o <\ (C) 19,737 =
R R ;91;%5 0°%0 | ¢ \ /Z'; _as-a5/ 9
(D) 16,527 % (D) 16,527 / % -
\ (E) None of these ’3’7
() & @ a1 =rzﬁ /*"‘f We A
142. A train which is 225 meter lengthy
142, wH 225 "X sl aTI - crosses the platform of equal length in |
R 1 26 Vg I TR ) % Gl ﬁ”ﬂ- ' 26 seconds, then find out the speed of, *
sRgz f R e ? ' the train in km/hour. ’ﬁp/ 2%
38 mee e % (A) 66 ,4&0/)(4% f
25X S, @ 60 ,4,3'0/ (B) 60
26 L2 (B) o )z;‘:(' ﬁ/'/ /
6 (C) 64 A2 o (C)-64
- AT (D) 72
29 O 72X 225
s ; 3' ] (E) None of these
| .S"_C JEY .ﬁqﬁ QA E}?]’g e \_} . ’ .
143. - Find out the compound interest at the
143. 14,000 %. 1 A W 11% arfifer < 2 rate of 11% per annum on an amount
o ¥ atq A P TR g S €M T of Rs. 14,000 after two years.
(A) 2,545 W (A) 2,545 9
T My N\
V0 o (® 2250 M S~ ”T @ 2250 AV ’;ﬁ("ﬁ‘
% (C) 2,986 ' 4 \ () 2296 |12 249
M A\ (D) 3,775 ‘4,W
(D) 3,775 Y e
) ' ) (E) None of these '_‘_3‘—24:’3’
Page No. 43 Set'B
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A B TER 1R A0S TR OOV G o
144, ’Tfé T 1A 6 SAa1g 30% FH T 4 S 144. Ifthe length of a rectangle is decreased
Td S1TE 20% 21 € ST A 39F AR 5 by 30% and the breadth is increased
foraa % gfada 2 7 i by 20%, then find the % change in the
A) 15% =ifi area of rectangle.
f.y( ) ° (A) 15% decrease
a®’ v"(B) 15% gf% - o |EO (B) 15% increase
2* - ©O)A6%gfa 3e 7 4~ (C) 16% increase
' Py =V YB) 16% 3 6, 1S4 1B (D) 16% decrease
2\ ’ | (E) 37 & =g & Tég / f—i f_;z (E) None of these
-1 : 145. ‘Number of employees in company
T 14,5- FE X, Y wE Z 3 i ) e w X,Y and Z are inpprgportion of 2:3:4.
Cc2:3:4% FITd T R 1 37 o FufiE i Find out the proportion of employees
o ') il Y @@ FHe: 200, 309% 36 after increasing number of employees
‘ 15% S W FHATRE! o1 373ura @) 2 7 B 4 in three companies as 20%, 30% and
£ a‘) ’ &~ 15% respectively.
QP? % (A) 18:13:24 %4}3‘*6 57 g ey
N 17
- %, (B) 13:18:23 48 48 [92- (B 13:18:23
% A¢ (C)17:13:23 ,&‘r_ﬁﬂ Jae (€ 17:13:23
‘A9 24 .
,(,’5 (D) 18:11:23 (D) 18:11:23
’ \ LBy ‘s#ﬁﬁﬁé e (E) None of these
et w1 whe :' Data Interpretation :

3w w9 146 | 150 o= 9 feg o = @y

. TR o o reaferera v w8

Instruction : Questions 146 to 150 are based
on following pie-chart and the table.

Medical
20%

Engineering
17%

Science

Management
21%

18%

The above Pie Chart shows the percentage
of students in different disciplines in a

Y witrerg wefifa &t 2 University.
?OE?A 13-01a Is- CPage No. 44 _ Set.
A ter o - : Zto f. .
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|CEBE AT D T AL
— S——
faaa ___,,_J_,,,___
DR M- o, ey
ESilERIY 9 6
Faferean 8 7
by 6 4
fasm 4 6
Fifor=a 8 6
9 6

T AT o At F faftyw germn

146. s TgAATE TgEl Td TEd EEECI

agﬁm“fzﬁzi@miﬁaﬂmwm%?

(A) 6:7 LsoWh ??i

JBY7:6 _;’Q,'/ j"‘gco
| &

(C) 7:8 B ﬂ;

(D) 8:7 et

(E) il @ #ré T 9

147. nauvammqaqaragmmaﬁm

GET IT ON
Google Play

Subject Proportion
Boys Girls
Engineering 9 6
Medical 8 7
Management 6 4
Science 4 6
Commerce 8 6
B Arts 9#_ 6 |

The above table shows the proportion of boys

and girls in various discipline of the University.

146. What is the proportion in number
between boys studying science and

girls studying management ?

(A) 6:7
(B) 7:6
- (C) 7:8
o
o (D) BT

(E) None of these

147. Whatis the total number of students

studying management and science ?

frafie ? 50
(A) 1250 A (A) 1250
@) 1220 W (B) 1220
) 1170 (C) 1170
(D) 1150 () 1150
, N (E) None of these
CGOEBA - 13- 018 e o pag = Set-B
P
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O 50 R AT
m% Fefien wgaTeh o i deftFratin
weaTeh TSRl i wien # fr sia R 7
(A) 70
(B) 72
(C) 74
(D) 76
(E) =@ & =S el
149. a1 & fagm vgiaTe gl A e w5
FrguTd fraan 2 7
(A) 7:5
iBY'5:7
C) 6:7
(D) 7:6
(E) 78 @ ¥ el
150. arfra, e v fomm Te arch asfi
= 6 oot T frah @ 7
(A) 657
(B) 668
(C) 678
(D) 679
(E) 30 @ =r$ =i

GET IT ON
Google Play

148. What is the difference in number

between girls studying medical and
engineering ?

(A) 70

(B) 72

(C) 74

(D) 76

(E) None of these

149. Whatis the proporﬁon of boys studying

art and science ?
(A) 7:5
(B) 5:7
(C) 6:7
(D) 7:6
" (E) None of these
150. What is the total number of girls
studying commerce, art and science ?
" (A) 657
©(B) 668
(C) 678
(D) 679

(E) None of these

i, . CGOEBA 3”14
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